This week in computing we’re going to build a game that we’ve been working on in class. The game is inspired by the 1976 arcade game built by Steve Wozniak (one of the co-founders of Apple). 

In this game the player has to bounce a ball using a paddle against a wall of blocks. When the ball hits the blocks the player scores points and the blocks disappear.

We’re going to use Scratch to programme the game so follow the link and we’ll get started: https://scratch.mit.edu/projects/editor/?tutorial=getStarted
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1. First, delete the Scratch sprite from your desktop by clicking on the dustbin in the top right-hand corner.
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2. Next, choose to create a sprite using the paint brush icon.




[image: ]

3. Select your fill colour and outline colour and choose the rectangle option.







4. [image: ]Draw a small rectangle. Once you’ve drawn it you can resize it by selecting the arrow icon from the options and then clicking and dragging the dots around the outside edge of your shape. You should also centre the rectangle onto the centre crosshairs in the middle of your drawing pallet.

5. [image: ]Next, we need to programme the sprite. Choose the code tab (it should be located in the top left-hand corner of your screen). In the preview screen drag your sprite toward the bottom so that it sits just above the bottom of the screen.



6. Next, select the yellow Event option on the code tab. Drag the ‘When space key pressed’ option into your middle screen twice.

7. Now, select the blue motion option. Drag the ‘change x by 10’ into you middle screen twice.


8. [image: ]Attach one to each of the key pressed events. 








9. Click on the drop-down arrow in the Events command. Change one to ‘right arrow’ and one to ‘left arrow’. This will cause the sprite to respond to the event when you press the appropriate arrow key.

10. At the moment, both keys cause the sprite to move in the same direction along the x axis. In order to make left arrow key move the sprite to the left we have to change the value to -10 instead of 10. If you do this you should have a fully functioning sprite and you’ll have completed step 1 of our computer game. Well done!
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